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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper consists of 39 questions. All questions are compulsory.
(i) This Question paper is divided into five sections — A, B, C, D and E.
(iti) Section A - Question Nos. 1 to 20 are Multiple Choice Questions. Each

question carries 1 mark.

1v) Section - Question Nos. ) are Very ort Answer type
Sect B - Quest Nos. 21 to 26 Ve Short A t
questions. Each question carries 2 marks. Answer to these questions

should be in the range of 30 to 50 words.

(v) Section C - Question Nos. 27 to 33 are Short Answer (SA) type
questions. Each question carries 8 marks. Answer to these questions

should be in the range of 50 to 80 words.

(vi) Section D - Question Nos. 34 to 36 are Long Answer type questions.
Each question carries § marks. Answer to these questions should be in

the range of 80 to 120 words.

(vii) Section E - Question Nos. 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viii) There is no overall choice. However, an internal choice has been provided
in some sections. Only one of the alternatives has to be attempted in such

questions.

2231/3/1 3 P.T.O.



e

g - % (20 x 1 = 20)
T EUS H 20 Sgfaehed! T9 (R 1 — 20) § | @i s Afem 2 |

1. =& i v sAfirfshan 1y 3T X gEEte 1
CaCO,—2 X'+ CO,
(A) o g = B) frem
(C) =LA Tc (D) AT ATH URE
2. Tr=fafad o € yrepfae gaeni &1 el T : 1
(A) Torenmg 3tk e s (B) Be<l 3R foremm
(C) $HTTHRIfcH 3R AR A= (D) AR AN 3R Foa)
3. oI, AIgH TR IS T § ITART H AT THRIS J1Teh 3 1
(A) €H HTAET (B) Sk HreT
(C) fertsteh = (D) HTHROT T
4. HTSFATGH 1 TS G & 1
3 H
H\C_C/\H
H\C_C/H H\/ \ /H
// \\ g © Clu
(A) H-C C-H (B) \ /
\ / H//C—C/H
H/C:C\H H H
Hxe o
c=c /7 N\
o/ \ 4 H-C C-H
© .. >C ¢ ™ N\
AN / C—C
c=¢ A

2231/3/1 4



—
SECTION - A (20 x 1 = 20)

In this section, Questions No. 1 to 20 are Multiple-Choice Questions.

All questions are compulsory.

1. Identify the product X’ obtained in the following chemical reaction : 1
CaCO,—2 X'+ CO,

(A) Quick lime (B) Gypsum
(C) Lime Stone (D) Plaster of Paris
2.  Select a pair of natural indicator from the following : 1

(A) Litmus and methyl orange

(B) Turmeric and Litmus

(C) Phenolphthalein and methyl orange
(D) Methyl orange and Turmeric

3. A chemical compound used in glass, soap and paper industries is 1
(A) Washing Soda (B) Baking Soda
(C) Bleaching Powder (D) Common Salt
4. The structural formula of Cyclohexane is 1
i H
- q H—c— C/\H
~c—— 7 "/ \ n
// N\ g oC cy
A) H-C C-H (B) \ / o
N/ H//C —C
g-¢—°0C~g H H
Hie —o-H
c=c 7/ N\
o/ \ 4 H-C C-H
~ e
© O Cly D) \\c é/
A / A
C—=C

2231/3/1 5 P.T.O.
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a Al,O, +b HCl— c AlCI; + d H,0
39 TEE T ! FgfeTd §H o 07T a, b, ¢ 3R d 3 HH FHAN: B AT -
(A) 1,6,23W3 B) 1,6, 332

(C) 2,6,23N3 D) 2,6, 332

6. = fem mn i o v g s A = # 7
@) CHy, B) C;H,,

(©) CH,, D) C,H,

7. RS TR M U ATl 3 A TR | e g 7
(A) NaCl + AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, +H,S — ZnS + 2HCI

8. e feu Tu ted EHIHI H B 38 Teh bl Y S HITehT fSTSH 1 Sge e ® |
A) Setferm (B) Fifere
(C) ufehfyes 3mt (D) Hrseehisi
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5.  Consider the following Chemical equation : 1

a Al,Og +b HCl —> ¢ AICl, + d H,0

In order to balance this chemical equation, the values of a, b, ¢c and d must

be
(A 1,6,2and3 B) 1,6,3and 2
(C) 2,6,2and 3 D) 2,6,3and 2
6.  Which one of the following hydrocarbons is different from the others ? 1
@A) CH,, B) C.H,,
(©) CH,, D) C,Hg
7.  Which one of the following reactions is different from the remaining three ? 1

(A) NaCl + AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, +H,S — ZnS + 2HCI

8. Select from the following a plant hormone which promotes cell division. 1
(A) Gibberellins (B) Auxins
(C) Abscissic Acid (D) Cytokinins

2231/3/1 7 P.T.O.
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(C) (b) 3R (c) D) (b) 3R (d)
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9.

10.

11.

Part(s) of a flower which attracts insects for pollination is (are) 1
(A) petals and Sepals (B) anther and Stigma
(C) petals only (D) sepals only

In an experiment to study independent inheritance of two separate traits :

shape and colour of seeds, the ratio of the different combinations in F,

progeny would be 1
A 1:3 B) 1:2:1

C) 9:3:3:1 D) 9:1:1:3

Which of the following statement (s) is (are) true about human heart ? 1

(a) Right atrium receives oxygenated blood from lungs through

pulmonary artery.

(b) Left atrium transfers oxygenated blood to left ventricle which sends

it to various parts of the body.

(¢) Right atrium receives deoxygenated blood from different parts of the

body through vena cava.

(d) Left atrium transfers oxygenated blood to aorta which sends it to

different parts of the body.
(A) (b) only (B) (a)and (d)

(C) (b) and (c) (D) (b) and (d)

2231/3/1 9 P.T.O.
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12.

13.

14.

15.

Tl A HX < T oh S HehIUT o ThoRea®d 3cd—~ Hdfd o d1di § % s 41 I 5T |

S QI T -GS gH1 =180 -

(A) Tt 3R Tt (B) Tt 3R tt

(C) TT 3 tt (D) TT 3Tt

TS § 5N o+ § Gftford B aTeft TehTe1 hl qitereand 8
(A) 3T, it (fagmon) it s

(B) 319acH, aieraur (fagmmor) iR ot sT=aies Tad
(C) uiegmur (fagmon), Jehivi 3R qeey

(D) & (fagaon), 3Tqede 3T 3AT=deh Ted

A e & IR dll & IhT § 39 R 1 Sfate freaq grm frees sae 3R awrs

hHIA: %
(A) D/2 3R 1/4 (B) D/4 3R 4L

(C) 2D 3R L (D) 4D 37 2L

F1 o TGI H hIg TR TIAT a8 (e ATWHRI I 8, ST 395 2Id &
(A) U &R (B) i It =R

(C) IR I &R (D) 9 9ISl =R
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12.

13.

14.

15.

A cross between two tall pea plants resulted in offsprings having a few

dwarf plants. The gene-combination of the parental plants must be 1
(A) Ttand Tt (B) Ttand tt
(C) TT and tt (D) TT and Tt

The Phenomena of light involved in the formation of a rainbow in the sky

are 1
(A) Refraction, dispersion and reflection

(B) Refraction, dispersion and total internal reflection

(C) Dispersion, scattering and reflection

(D) Dispersion, refraction and internal reflection

In case of four wires of same material, the resistance will be minimum if

the diameter and length of the wire respectively are 1
(A) D/2 and L/4 (B) D/4 and 4L

(C) 2D and L (D) 4D and 2L

A food chain will be more advantageous in terms of energy if it has 1
(A) 2 trophic levels (B) 3 trophic levels

(C) 4 trophic levels (D) 5 trophic levels

2231/3/1 11 P.T.O.
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16. Consider the following statements about ozone : 1

(a) Ozone is poisonous gas.

(b) Ozone shields the earth’s surface from the infrared radiation from

the sun.
(¢) Ozone is a product of UV radiations acting on oxygen molecule.

(d) At the lower level of the earth’s atmosphere, ozone performs most

essential function.
The correct statements are
(A) (a)and (b) (B) (a) and (c)

(C) (b) and (¢) (D)  (b) and (d)

Q. Nos. 17 to 20 consists of two statements — Assertion (A) and Reason (R),

answer these questions selecting the appropriate option given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

17. Assertion (A) : A piece of Zinc metal gets reddish brown coating when

kept in copper sulphate solution for some time. 1

Reason (R) : Copper is more reactive metal than Zinc.

2231/3/1 13 P.T.O.
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18.

19.

20.

21.

22.

2231/3/1 15 P.T.O.

Assertion (A) : Offsprings produced by asexual reproduction are

genetically similar to the parents.

Reason (R) : Asexual reproduction involves a single parent.

Assertion (A) : Red light signals are used to stop the vehicles on the road.

Reason (R) : Red coloured light is scattered the most so as to be visible

from a large distance.

Assertion (A) : The waste we generate daily may be biodegradable or

non-biodegradable.

Reason (R) : The waste generated, if not disposed off properly may cause

serious environmental problems.

SECTION - B

Question Nos. 21 to 26 are very short answer type questions. Each

question carries 2 marks.

When magnesium ribbon is burnt in air, an ash of white colour is
produced. Write chemical equation for the reaction giving the chemical
name of the ash produced. State the type of chemical reaction giving

justification for your answer.

Where are auxins synthesized ? How do they promote phototropism ?

1
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23.

23.

24.

25.

25.

26.

(a) WU oh Uil o fohral QI GO M dTet fu=ITelt ST&vTi o el (STIeT) <h F=il
TATST fSHehT 3T Hed 3 3194 T H Toham o | Teish SIS b TTelt 3T 39T
I <R Seoi o I |

AYAT

(b) wET T T73] T N1 ST HIET BT $8eh! TTfehell (FWTeMT) 50% Bl 2 | helet
g 3G T et 39 e hi SITEAT ShifT |

I8 BH e ad & [ I3 A GE-g1e QY (F-3foan) | fifed & ? 39 39 & g1 HRON
T = ST | 39 QN b ERIEE o o7 IUAFT fohT ST <78 o YehR o1 AT fARaT |

(a) Toref TS grraETEl =TeTeh o HRUT I~ Frachd &1 {371 o Y ol g1 o Ty
AifeRd TG i | 39 3T § ATeteh § YaTfed 9 i feem 3R Jrashi &=
w@Erat S feam sifera Hife |

AYAT

(b) 3T gfera o1 T ToaRa foraent 3wt fopeft rarhia uerel & Tohs 1 grafehd o A
ToparT STTT & | 39 SIERAT I g o fofu Amiferd @ wifae fSeest 3u=m 94
g % fafeuet o1 grafehd s & fepan aT 2 |

T (3UHTSh) TR hed & 7 fohell TTitas | $7eht Jrgafefa o < aiermi st gt

T |
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23. (a) List any two pairs of visible contrasting characters of garden pea
plants used by Mendel for his experiments stating the dominant and

recessive characters in each pair. 2
OR

23. (b) In human beings, the probability of getting a male or a female child

is 50%. Explain with the help of a flow diagram only. 2

24. When do we say that a particular person is suffering from hypermetropia ?
List two causes of this defect. Name the type of lens used to correct this

defect. 2

25. (a) Draw a labelled diagram to show the pattern of magnetic field lines
produced due to a current carrying straight conductor. Mark on it
the direction of current in the conductor and the direction of

magnetic field lines. 2
OR

25. (b) Name the device used to magnetise a piece of magnetic material.
Draw a labelled diagram to show the arrangement used for the

magnetisation of a cylinder made of soft iron. 2

26. What are decomposers ? List two consequences of their absence in an

ecosystem. 2

2231/3/1 17 P.T.O.
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Tfsha 1 TeT | STet il |
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SECTION - C

Question Nos. 27 to 33 are short answer type questions. Each

question carries 3 marks.

27. State reasons for the following :

()
(b)
(©)

28. (a)

28. (b)

Zinc oxide is an amphoteric oxide.
Sodium metal is stored in bottle filled with kerosene oil.

In the reactions of nitric acid with metals, generally hydrogen gas is

not evolved.

State giving reason the reduction process to obtain the following

metals from their compounds : 3
(1) Mercury,
(11) Copper and
(111) Sodium
OR

State giving reason for the change in appearance observed when each of

the following metal is exposed to atmospheric air for some time : 3
1) Silver,
(11) Copper and

(111) Iron

29. We water the soil but it reaches the topmost leaves of the plants. Explain

in brief the process involved.

2231/3/1

19 P.T.O.
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R
MY
R
X % AN XY
R
AAN
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30. (a) List two constituents of Central Nervous System (CNS). How are

these components protected from injuries ?

(b) Write two limitations of the use of electrical impulses. 3

31. Name and explain the phenomenon of light due to which the path of a
beam of light becomes visible when it enters a smoke filled room through
a small hole. Also state the dependence of colour of the light we receive on
the size of the particle of the medium through which the beam of light

passes. 3

32. Explain in brief the function of an electric fuse in a domestic circuit. An
electric heater of current rating 3 kW; 220 V is to be operated in an
electric circuit of rating 5 A. What is likely to happen when the heater is

switched ‘ON’ ? Justify your answer with necessary calculation. 3

33. (a) State Ohm’s law. Write formula for the equivalent resistance Rp of

the parallel combination of three resistors of values R,, R, and R.

(b) Find the resistance of the following network of resistors : 3
R
AV
R
X ANV XY
R
MY

2231/3/1 21 P.T.O.
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34. (a)

34. (b)

35. (a)

2231/3/1

() pH IR % 1Y Wi 3 WU fae= i A, B, C, D 37 E & pH e
4,1, 13, 7 3R 10 S | $74 & 4 A7 forere -
(1) 99 A1, (2) T &R, (3) gt 3T, (4) Il qen
(5) o T B 7 3 Tl i 3okl Sgd! HY 3T Higal o %A
SR HIT |
(1) (1) Ueh ITATT 90T 3R (2) T ATREh I G011 A faIRau 3R Jedieh Jehtor
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T Ioohg T | 38 Ulshan 3 g&T 3ca1g & |1 g1 79 X 3R Y’ oft € goieersl W
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(ii) FB UIEU ®I Bk Jae 6 fafer gro = IR A 7, $9h 1 HRO
AT | FTReh TaET GRT T UTed 3T <h & Torferi < F=f sA18T |
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SECTION -D

Question Nos. 34 to 36 are long answer type questions. Each question

carries 5 marks.

34. (a)

34. (b)

35. (a)

2231/3/1

(1) Five solutions A, B, C, D and E when tested with pH paper
showed pH as 4, 1, 13, 7 and 10 respectively. Which solution is :

(1) Strongly acidic (2) Strongly alkaline (3) Weakly acidic
(4) Neutral and (5) Weakly alkaline ? Arrange the solutions in

increasing order of H* ion concentration.

(i1) Write the name and formula of (1) an acidic salt and (2) a basic
salt giving the name of the parent acid and parent base used to

form the salt in each case. 5
OR

Name and state in brief the process which is used to prepare sodium
hydroxide from sodium chloride. In this process along with the main
product two gases ‘X’ and Y’ are also given off at the two electrodes.
Name X’ and Y’ specifying the name of their respective electrode at
which each gas is obtained. One of these gases when reacts with dry
calcium hydroxide produces a compound Z which is widely used in
water treatment plants and textile industries. Name Z and write

chemical equation for the reaction involved in its formation. 5

(1) What are spores ? On which structures are they formed ? How
do they overcome unfavourable conditions ? Name the organism

which multiplies with the help of these structures.

(1) Give two reasons why some plants are grown by the method of
vegetative propagation. List two methods used to grow plants

vegetatively. 5

OR
23 P.T.O.
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35. (b) () = feu U 3M@ 1 A= Fh A, B 3R C g0 3ifhd 9FM & T

fafae | @ € & S B 3vsRE § fRd C W ugEdr 8 7 36 HEw
IooRg THIFT |

(i) foret goa | Fi=m <6 U= B aTel UiEdH o1 Seoid shifT |

36. (a) (1) M feu U gk yehtor § arvafaa fohtor o1 9y gurid & foru fopwor ama
Hifau
fereft Jreraet o WX 3Tl 39 ekt fohtor 1
(1) T q&F 3787 o THI=R AWM 8, 9
(2) S T Wik ohi 3 fefdres (St femms &) & |
(11) 4cm°ﬁTaﬁ§ﬁW24cmtﬁWEﬁa§ﬁ?@WﬁH%ﬂ@3¥&TW
oread feud 2 | o & fore <A1 gl 16 cm @ | Wicifersy shi feurfa 3T |msst
1A I |
JAYET
36. (b) (1) = feu TU e TRl H YUEiad fohior kT U € & foTu fehtor T
wifere
Tereft 3ret T Wt 3TTafad 39 SeRTet fohtor 1
(1) S g&T 3787 o GHR TIG0H 8, qei
(2) S g BrwE i 3R fefren (s femré &) 2 |

2231/3/1 24



e

35. (b) (1) Study the diagram given below and name the parts marked as
A, B and C. What happens when B reaches C in the ovary ?

Mention its significance.

(11) Write the post fertilisation changes that occur in a flower. 5

36. (a) (1) Draw a ray diagram to show the path of the refracted ray in

each of the following cases :

A ray of light incident on a concave lens

(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus.

(1) A 4 cm tall object is placed perpendicular to the principal axis of
convex lens of focal length 24 cm. The distance of object from

the lens is 16 cm. Find the position and size of image formed. 5
OR
36. (b) (1) Draw a ray diagram to show the path of the reflected ray in

each of the following cases :
A ray of light incident on a convex mirror
(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus

2231/3/1 25 P.T.O.



e

(i1)

1.5 cm 35t HiHed 1 ST 12 cm ik gl o ToheT Tardel quuT < 4ed 3181 W
ASEd W 7 | ATE SaTeT sl G901 < g9 8 gl 18 cm @, A1 IO 3l 1 ST Hth
wicrferear sht et i genT @rgst fuifa hifa |

gig -¢

T ST 37 € 39 B AT /T HATHRT T & | Tedeh T 4 FhI 1 2 |

37. WA % &7 ¥ i\ g ¥ off 31fres e o Afirent sl @IS 81 Fohl 7 | 37 AT 6l
TaRT=TaT <1 HTT BT TTATISTT S TER SATEY S 37 31T qdl o 1 3T s
ST U1 EHT 7 | TeH b ATk AT forgd o Farmeres 8 @ q2i $9h o 3T
FILAR B B |
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(b)

(c)

(c)
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39 GUST Jft < dgel &1 Hewdl ol Tfvaeh ¥ foaRaw fSaeht JepmiicHes dg
—Br%l

= $® TS gl < 9 fqu T g

~H —ﬁ—
>0 . 0

@) (i1)
T YehTITcHe Tgl 1 A ferfiaw |
T AT Y&A01 A g ST I Fohelt TEeell H $© TR TAATA iRt IWH dg-dg
Hh 5% & WMREW Ui fieTd & 7 38 dieRem wWiTe i i
30T HITTT TUT B STeht STTHTSHAT 1 TETITh HHRLT TRaT |

—C

CDE]]

TIATA o1 ST Tg TR 310 o 1Y 443 K A9 W TH Hid T § a1e]
ifieh 1 T TafaT | 38 AMGRAT § 915 HeRgieh 3T shi fHehT 1 Ieoi@
SHITTT a1 B et SATHTRa 1 T Fefie fafEm |
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(1) A 1.5 cm tall candle flame is placed perpendicular to the principal
axis of a concave mirror of focal length 12 c¢m. If the distance of the
flame from the pole of the mirror is 18 c¢cm, use mirror formula to

determine the position and size of the image formed. 5

SECTION - E

Question Nos. 37 to 39 are Case/Source based questions. Each question
carries 4 marks.

37. More than three million carbon compounds have been discovered in the
field of chemistry. The diversity of these compounds is due to the capacity
of carbon atoms for bonding with one another as well as with other atoms.
Most of the carbon compounds are poor conductors of electricity and have
low melting and boiling points. 4

(a) Write the molecular formula of first two members of homologous

series having functional group —Br. 1
(b) Given below are the formulae of some functional groups : 1
H —C—
-c( [
o, O
@) (i1)

Write the name of these functional groups.

() What would be observed on adding a 5% alkaline potassium
permanganate drop by drop to some warm ethanol taken in a test

tube ? State the role of KMnO 4 In the reaction and write the

chemical equation for the reaction involved. 2
OR

(¢) Write the name of the compound formed when ethanol is heated at

443 K temperature with excess of conc. H,SO,. What is the role of
conc. H,SO, in the reaction ? Write the chemical equation for the

reaction involved. 2

2231/3/1 27 P.T.O.
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38. HME UTEH  Ush Afoiehl BIcl & S Hg ¥ &1 b Wil & | SHehT T&T i WioH § 3T

Sfeet STupat, S 3et €9 § STIfyd T8 &1 Tehd €, I BIe ST H Wied 1 8 7 |
J BIE 3] 3 Afcreht 1 fufa=i B sramnfya g & aur sty Jiee IR 6 I
TR eh gl & STl SEhT ST Shotl YT HLH b o7 foha ST 7 |

(a) @ &1 H IuTed Ufi o1 91 feiRagu aum A o 39 925 i Jeoid hitorg, o
TS R % B T e B |
(b) <t 3§ forepr W 3TRifert Ueft Bt & | e A forfe |
() Tl
() TS AR gRI ToTSHT <kl HTEUT &1 fehaT SY 7
(i) g™ U< U9 A&l ?
3T

(c) “fUxd W H &g T~y & 8, L it I8 UTeH § Hgcaqul fHent fwmar & 1~ 34
YA hl giY hIT |

39. Terdll TXe 7ftaY H 9ig LED S¢§ 3TR@ ¥ g 3TJ9R SAfedd § | |id shi aredr 220V
8 AT Y §ed 1 Jfed— AT IRTY 3@ T Fod o A1 3ifhd fha1 T 7 | A=t
feu 7o wfwey 3meE % maR W f=fefea yet o 3 i :

+ A\

@ 22 W, 220V l

K, & K

:;A 1 9

HhE:

— LIW; 55V 11W;55V 11W; 55V 11W;55V

) 87 ) o{} &()
(a) SeoT@ HITST 1 BIAT & e

() FMK, B FEHAS |

(i) FHK, B FCHA 2 |
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38. Human digestive system is a tube running from mouth to anus. Its main
function is to breakdown complex molecules present in the food which
cannot be absorbed as such into smaller molecules. These molecules are

absorbed across the walls of the tube and the absorbed food reaches each

and every cell of the body where it is utilised for obtaining energy. 4

(a) Name the glands present in the buccal cavity and write the
components of food on which the secretion of these glands act upon. 1

(b) Two organs have a sphincter muscle at their exit. Name them. 1

(¢) What will happen if :
(1) mucus is not secreted by the gastric glands.
(11) Villi are absent in the small intestine. 2

OR

(¢) “Bile juice does not contain any enzyme, yet it has important roles in
digestion.” Justify the statement. 2

39. In a domestic circuit five LED bulbs are arranged as shown. The source
voltage 1s 220 V and the power rating of each bulb is marked in the circuit
diagram. Based on the following circuit diagram, answer the following
questions : 4

+®—

22 W, 220V
Ky l K

:;A 1 9

HhE

LW 56V 1LW;55V  1LW;55V 11W;55V
U7 ) of}  &()

(a) State what happens when 1
(i) key K, is closed.

(i) key K, is closed.

2231/3/1 29 P.T.O.
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(c) INehfra hifau :
() o9 BT Ulaus, qon
(i) =R &ed B, C, D 3R E & TISH 1 Hl Tfaly

AYAT

(c) Uy o |l Scall <l =Heh 1 w1 BN Sk Foll K, a1 K, GHI &5 & a1
I dod C RIS &1 a1 & 7 370 I o gf¥ o fofg o i |

2231/3/1 30



e

(b) Find the current drawn by the bulb B when it glows.
(¢) Calculate
(i) the resistance of bulb B, and
(ii) total resistance of the combination of four bulbs B, C, D and E.
OR

(¢) What would happen to the glow of all the bulbs in the circuit when
keys K; and K, both are closed and the bulb C suddenly get fused ?

Give reason to justify your answer.

2231/3/1 31
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